UESFRIFR: AIEEE IEFHAFS: 000848 AERS: 2022-043
AR R BB A A A
KT Betr BEERELNAS

AT REFEERRARER BHENFHESE. EHNTE, BAER
LH. RPEHRIRRERER.

=

g e | (BURRIRR “2F” ) 205)T 2022 44 7 8 H. 2022 4 5
H e HEFFHE ) REFH )RS 2021 FHEBRRARS, HYUBEL T (KT H
NaER Mo A AR AR T7 R FEAE A7 BA B, UMES S35 775,
PIAGEE AR T 13.30 7o/l (55D AU I AR 28w i N B i i A et
[m g % < M A ANMIR T AR T 20,000.00 /376 (%), ANHEERE AR 40,000.00 /378
B BT 5475 PR K05 LA Tl U SR 36 I 2 s [ ) £ JBE - 50 B o o T T £ £
JHIR N 2 ) 2021 4F B2 AR R 2 SR I AR B A 75 2 HilE 12 S H W

BN AEBRARE WA F 0T 2022 4 4 12 H, 2022 45 7 7 HEE (hHE

EZFR)  GEZFREHR)  GEZEH#R) KE#ZHM (www.cninfo.com.cn) $%#% i
CRTBIEE S AR AT TT R AE) (A5 S: 2022-019) « (R &
) (A%%HT: 2022-028) .

R R AR B EIERINY  GRYINESRAS 5 i B A= B ERI128 9
T ) S RIE, A TSR A AT =N 5 H A 8= LA
RH I HEFENE DL, K [ M B3 E FE I DL A 2 U T

— [ it R R L

BE 2022 £ 8 F] 31 H, Aal@EEL mIgE HUEZFK T, DL a4 5 2 SL i [l
W 23 F) ety s ASUR R A5 B A SEE R 2K, 77 & A ml BERE Iy 7 58 . FARR]
METE LN R 35

(5 g i 47 i EBEA B AL B fIRAZ PR PSR
g (KO EANCY itk Go/Bo | ks Go/io (78

16,715,487 1.55% 9.31 8.03 141,230,068.86




(A AR ESEAEAL S .

=, HAthuieg

O3 ) [ P A (R D Tl 0 R e B B v SE AN A2 5 (N ZR BN B A CRIINIE
FAL G B AR BHERERIE 9 S——RIMkG) Btk BHN\%K E
TILGARRHE, BARWTT:

1. A FIARAE T Bl 2 =] i 22

(1D AFFEERSE . PEERE NSNS HN, FRRIEF R A &
IR, BIEMAA S HEi-HA4N58 5 B,

(2) AFIZEERSE. WFHE. WESPRIRA SR+ S H A

(3) H ATREXT A F I 522 Gy 0k 7= A R el (1) B K H IR A 2 H B3 7 vk
FOdFE R B AL R 2 H N

(4) H [EIIE 23 RE [ HARAE TE o

2. HAF AR B RTERIZ Bk, 2w RANEE 5 H R ) EcoR
AR A F IR ARy sk A2 H (2022 4F 6 A 23 HD BB 5 HA A
2RI A & 77,222,800 ) 25% (B 19,305,700 i) .

3. A LIRS 7 AR B 455 R B K

(1) ARG AT 7] B 24 H 22 G ik i R o] ) A 4«

(2) ARIEARFITELES SO BT /NI A R S EEAN R T Tk ik i PR A £
A2 oy B A HEAT I [0 T R 22 4

(3) o [E RN 2 FRIINESRAE 55 B B e i) A 25K

O\ ) o R AR T 717 100 4k 458 St AR B Rl S A [ ey TR R A A DG
TR VERURRYE M ST e B JEATAS B 88 X 55 o MO T K o 3 A A B R
[ o

R A

7R 5% 5% Iy F
H =5 o
—“ O hHA=H



